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7 General Instructions to Candidates :

the ‘cool off time’.

» Read the instructions carefully.

ailepdmale: a8 ealimmldeqguemad
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e There is a ‘Cool off time ' of 13 minutes in addition to the writing time of 2 hrs.

s You are not allowed to write vour answers nor to discuss anvthing with others during

» Read questions carefully before answering.

Calculations, figures and graphs should be shown in the answer sheet itself.

» Malayvalam version of the questions is also provided.

» dddglagis 2 aemileemd maadal ayose 15 diollg ey ecad eese’ emzoalidienie.

* DD TLAWAY E.oI0GIETRIDEE HEMTO AfFIMOEM?, DRIesn e ecell epttwalaiawe

* HEDOGTRD ag)yernaiad oyl 6.0i06 16mR YA jdile AoWieaEmo.

* DEMBsT BHGeNGd. 2N@ERMR. ((B0anyEd. agiriial HEmOGa AT mam pesowidiensmo.
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Answer all questions from 1 te 5. Each

carries 1 score. (5%1=5})

1. The number of entry flows to a decision
box in flow chart 7

(1,2, 3)

Score
1 ajoad 5 cuOn@)Bs ng)RIo .16 B0

OO0 agyei®e. 1 eapad aflme. (5x1=5)

1. @qgo 20dglea aflcdlaum eemiogsleales
ag)® afME ¢qQo Bale@oufaaomy ?
(1,2,3)
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2. Choose the valid string literal. 2. mvowyaw (flous elgomd @leeemmsieas,
(‘string’, string, “string ™) (‘string’, string, “string )

3. What is the size of ‘void’ data type ? 3. “void’ anog pesqyeges cuelato agomos ?
(0 byte, 1 byte, 4 bytes) (0 eserug, 1 oseng, 4 oosruga:c)

4. Symbol used to indicate preprocessor 4. odl eraomqud afldeguo myalaflemmn
directive. WY ©uc@ocTianm aflamo
({: #5 +) (:3 #a +)

3. ajues eordldlesymaid]® sendatemad

3. Which among the following is not a
conditional statement ?

(if, switch..case, while)

SIUACANG ERRITDE g ?
(1f, switch..case, while)

6 yyoad 17 apew)es eanaymmgln ageoelago

Answer any 9 questions from 6 to 17.

(9x2=18) | ° OO 20000 ageoe. 2 aryod allao.

(9%2=18)

6. ‘Bmineg c@moane’ ‘Cmom esoane’

Each carries 2 scores.

6. Differentiate “source code’ from ‘object
code’. SOALREE QY@ IOTSmTT ?

7. Define ‘debugging’. 7. ‘adlerugflows” afldcu olleeyes.

8. Name any 4 tokens. 8. agem®ialo 4 ES0NIMBRONS Calon WA,
9. 36.320.421,17.3E agomicu memow)alom
Clamd c0smaieaoe. ©onémo
Bl oSy,

9. 36,320.421 and 17.3E are invalid real
constants. Identify the reason.

C++ eal 0618 Mmoo @em@m afieomisss

10. What are the two types of comments in 10. €
@oem ? Ofladl @l .

C++ ? Explain.
. x =5,y = 3 aoesmeldd avgaysg
QBRSO B,
a) cout<<x%y;
b) cout<<y%x;

1. Predict Output if x = 5,y =3
a) cout<<x%y;

b) cout<<y%x;

12. Explain the following statement 12. @009 asosmmildlesymm winpoaim afled
(8l d6)8.
P=(a>b)?a:b; P=(a > b)?a : b;
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13.

4.

15.

16,

17.

Score
What is the significance of ‘loop control

variable’ ?

“for loop is better than while loop”,

agree or disagree with 2 valid points.

Write any 4 expressions to increment

the value of a variable ‘x’ by 1.
Explain Input/Output operators in
C++.

Compare =’
C++.

and ‘= =’ operators in

Answer any 9 questions from 18 to 29.

Each carries 3 score.

18.

19.

20,

21.

22.

23.

24.

(9%3=27)

Write an Algorithm to display the sum
of numbers from 1 to 100.

How ‘entry controlled loops’ differ from
‘exit controlled loops’ ?

What are the rules to name an identifier ?

Explain Logical AND and Logical OR
operators in C++.

Name and explain any 3 data types in
C.

Based on number of operands how can
we categorise operators in C++ 7

What is an expression in C++ ?
Name and give example for any two
EXPIessions.

13.

14.

15.

16.

17.

Score

‘elja | @erdesoid crudlomiidion plowamo
agmaery ?

“while eyaflemenod dleglmoeny for
egal ™, mowyaiow 2 eaiowlladiod golewd
Ao @eotSledlaames aflewozd#6)
BEWD 621G,
sudleamlasw ‘X’ of oaje 1 cudadl
afleeomd agem®lego 4 of gy lolan®
Q) F1Es.
C++ eal enida S/ e050 1S 6300 6ORMDWD
fldledlosyds.
Ct++ o ‘=",
BICOBI0 601G

_ —

€300 |C0OR0BUD

18 aymad 29 cusawies aalneismslch agameialo
9 agEpain’ peme agyrmie. 3 empod allmoe.

18.

19.

20.

21.

22,

23.

24,

(9%3=27)
loymad 100 cunowias Mo6l j&H816s
OB (ol adwlgflenon@lm’
@HOUUDDHD ERADENIBITO )i,

agsmem@aem afodEl claiotie egaliedd’
‘el Wleemio el sgldd mlomo
QLD @OBYTIE ?

80} OGBlaomlol Gald MWEIMSS
TRt ag)eNmOeEHWET ?

Ctten ceingdend AND, sengdend OR
300 J80R0IEW Clvodledloaden.

C++ ool egemsiage 3 ALof O8SaERIes
gald el Qflvodledleeys.

aoqjodausaes CH+ oal agemecs @os]
MOIMAIBE) Ba|EOROIEOS ag)ETEam
ool dleaco ?

CH+t or! agiembindatd® agymomd agamoen ?
@61 )T oG9l eocronTimye eay
£E0OMEMO MG,
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25. Differentiate type casting and type
promotion with example.

26. What is the role of comments and
indentation in programming 7

27. How are the operations 5/2 and 5/2.0
different ?

28. Explain ‘Nesting of control structure’
with example.

29. Rewrite using “if’
switch (n})

{
case 1 : cout << “pass’;
break;
case 2 cout << “fail™:
break:
default: cout << "invahd input”;

3
i

Answer any 2 questions from 30 to 32.
Each carries 5 scores. (2x5=10)

30. a) Explain any 3 type modifiers. 3

~+ Explain the use of access modifier.  (2)

21. 3 Draw ==z Zow chart of if else

SetEmens ()

AL RS

Score

25. eesq] #omflone eesal (alemoatmio
ORIOBEMMaT®o Qiluodle@lBe)d:.

26. clomodlowl@ meomBmieaiaswo
snadcwERausRwle alts agrmoet !

27. 5/2 , 5/2.0 &0¢JGCanm&@® ag)ssmBem
@ e gdlesomy ?

28. ‘weda(sod mseofd eomgylon”
£3%a00eMMaciimo cilvodlendles)d:.

29. “if” patewouSla] mofl agysimie-.
switch (n)

{

casc 1 : cout << *'pass”;
break;
case 2 : cout << “fail”;
break;
default: cout << “invalid input™;

'

30 yyoad 32 cuenwyes e.alaaiemsled agem
#lego 2 agepamilm gEmmeo agyeimye. 5 sapod
aflano. (2x5=10)
30. a) age@mlee 3 o6sqa] EDOUla 0RO
QV[TLTCF=NGE PN 3)

b) eog™ szoufno@cleOn Haicwitie
afldieblaamde. , (2)
31. a) if else equpended eggo n1odg
CUOQIS. 3)
b) if..else eguaead@ion e eacaooemo
. 2)
11,z ovodleddieal aflaliw aeigemad allved
N (3)




